

# Nanded Education Society's N.E.S. SCIENCE COLLEGE, NANDED

Affiliated with S.R.T.M. University, Nanded

Re-accredited with 'A' Grade by NAAC with CPGA 3.38, CPE Status, Recipient of DST-FIST & Best College Award

Website: http://www.sciencecollegenanded.org/

Details of Infrastructure and Physical Facilities Available for Teaching-Learning

#### Details of Infrastructure and Physical Facilities Available for Teaching-Learning

#### A) Administrative Building Wing (Ground Floor) Building Size - 150' x36.7' =5505 Sq.ft.=511.71 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Principal Cabin	30' x 25'	750 Sq. Ft.
2.	IQAC Office	30' x 25'	750 Sq. Ft.
3.	Research Lab Physics	20' x 25'	500 Sq. Ft.
4.	Office Store Room	20' x 25'	500 Sq. Ft.
5.	College Office	50' x 25'	1250 Sq. Ft.

#### Administrative Building Wing (First Floor) Building Size - 150' x36.7' =5505 Sq.ft.=511.71 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Lecture Hall No. 12	30' x 25'	750 Sq. Ft.
2.	Lecture Hall No. 13	30' x 25'	750 Sq. Ft.
3.	Lecture Hall No. 14	30' x 25'	750 Sq. Ft.
4.	Lecture Hall No. 15	30' x 25'	750 Sq. Ft.
5.	Lecture Hall No. 16	20' x 25'	500 Sq. Ft.

#### B) Department of Computer Science (Ground Floor) Building Size -154' x34.3' =5282.2 Sq.ft.=491.0 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Lecture Hall No. 1	40' x 25'	1000 Sq. Ft.
2.	Lecture Hall No. 2	40' x 25'	1000 Sq. Ft.
3.	Staff Room	20' x 25'	500 Sq. Ft.
4.	M.Sc. Physics Lecture Hall	40' x 25'	1000 Sq. Ft.

#### Department of Computer Science (First Floor) Building Size -154' x34.3' =5282.2 Sq.ft.=491.0 Sq.Mt.

The state of the s		, 8	
Sr. No.	Construction	Size	Total Area
1.	Computer Lab	40' x 25'	1000 Sq. Ft.
2.	Statistics Lab	60' x 25'	1500 Sq. Ft.
3.	Lecture Hall No. 17	40' x 25'	1000 Sq. Ft.

#### C) Physics Department Wing (Ground Floor) Building Size -138' x34.5' =4761 Sq.ft.=442.55 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Staff Room	40' x 25'	1000 Sq. Ft.
2.	Dark Room	20' x 25'	500 Sq. Ft.
3.	Physics Lab 1	20' x 25'	500 Sq. Ft.
4.	Physics Lab 2	20' x 25'	500 Sq. Ft.
5.	Physics Lab 3	20' x 25'	500 Sq. Ft.
6.	Physics Lab 4	40' x 25'	1000 Sq. Ft.
7.	Kurundkar Electronics Lab 1	30' x 25'	750 Sq. Ft.
8.	Electronics Tin Shed Lab 2	40' x 22'	880 Sq. Ft.
9.	Electronics Tin shed Lab 3	40' x 18'	720 Sq. Ft.
10.	Electronics Lab 4	20' x 25'	500 Sq. Ft.

## D) From Physics Lab to ladies staff room: Old Lecture Hall Wing (Ground Floor) Building Size -238' x36' =8568 Sq.ft.=796.430 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Lecture Hall No. 3	40' x 25'	1000 Sq. Ft.
2.	Lecture Hall No. 4	20' x 25'	500 Sq. Ft.
3.	Lecture Hall No. 5	20' x 25'	500 Sq. Ft.
4.	Lecture Hall No. 6	40' x 25'	1000 Sq. Ft.
5.	Exam Office	20' x 25'	500 Sq. Ft.
6.	Vice Principal Cabin	15' x 25'	375 Sq. Ft.
7.	Ladies Staff Room	11' x 25'	275 Sq. Ft.

#### E) Auditorium with Hall Building Size 6890 Sq.ft.=640.45 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Auditorium Ground Floor	100' x 50'	5000 Sq. Ft.
2.	Lecture Hall No. 4 (First Floor)	50' x 25'	1250 Sq. Ft.
3.	Language Lab (First Floor)	26' x 15'	390 Sq. Ft.
4.	Principal Cabin (Old) (First Floor)	25' x 10'	250 Sq. Ft.

#### F) Lecture Hall Wing (Ground Floor) Building Size-183.6' x36' =6609.6 Sq.ft.=614.38 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Fishery Research Lab	20' x 25'	500 Sq. Ft.
2.	Lecture Hall No. 19	40' x 25'	1000 Sq. Ft.
3.	Lecture Hall No. 20	40' x 25'	1000 Sq. Ft.
4.	Lecture Hall No. 21	40' x 25'	1000 Sq. Ft.
5.	Crop Science Lab	20' x 25'	500 Sq. Ft.
6.	Fishery Lab	20' x 25'	500 Sq. Ft.
7.	Staff Room College	10' x 20'	1000 Sq. Ft.

#### G) Museum Hall Building Size 50' x 25'=1250 Sq. Ft.=116.19 Sq. Mt.

Sr. No.	Construction	Size	Total Area
1.	Museum Hall	50' x 25'	1250 Sg. Ft.

#### H) Ladies Room (Ground Floor) Building Size-43' x29' =1247 Sq.ft.=115.91 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Dressing Room	12' x 10'	120 Sq. Ft.
2.	Study Room	17' x 10'	170 Sq. Ft.
3.	Seating Room	30' x 15½'	465 Sq. Ft.
4.	Open Tin Shed	40' x 15'	600 Sq. Ft.
5.	Toilet Block	27' x 10'	270 Sq. Ft.
6.	Open Space	57' x 27'	1539 Sq. Ft.

#### I) Zoology Dept. (Ground Floor) Building Size-135' x37.6' =5076 Sq.ft.=471.83 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Store Room	20' x 12'	240 Sq. Ft.
2.	Staff Room	26' x 20'	520 Sq. Ft.
3.	Zoology Lab 1	26' x 22'	572 Sq. Ft.
4.	Zoology Lab 2	26' x 22'	572 Sq. Ft.

5.	Zoology Lab 3	26' x 22'	572 Sq. Ft.
6.	Fishery Lab	26' x 22'	572 Sq. Ft.

J) Botany Dept. Wing (First Floor) Building Size-155' x37.6' =5828 Sq.ft.=541.73 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Staff Room	18' x 23'	414 Sq. Ft.
2.	Store Room	30' x 12'	360 Sq. Ft.
3.	HOD Cabin	13' x 10'	130 Sq. Ft.
4.	Biotechnology Lab I	26' x 22'	572 Sq. Ft.
5.	M.Sc. Botany Lab I	26' x 22'	572 Sq. Ft.
6.	M.Sc. Botany Lab II	26' x 22'	572 Sq. Ft.
7.	M.Sc. Herbal Medicine Lab	26' x 22'	572 Sq. Ft.
8.	Microbiology Lab	26' x 22'	572 Sq. Ft.

Botany Dept. Wing (Second Floor) Building Size-12' x20' =240 Sq.ft.=22.30 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Research Lab	10' x 18'	180 Sq. Ft.

K) Old Chemistry Dept. Wing (Ground Floor) Building Size-167' x36' =6012 Sq.ft.=558.83 Sq.Mt.

	<i>v</i> 1 8 \	, 9	
Sr. No.	Construction	Size	Total Area
1.	HOD and Staff Room	10' x 25'	250 Sq. Ft.
2.	Chemistry Lab No. 2	30' x 25'	750 Sq. Ft.
3.	Department Library	10' x 25'	250 Sq. Ft.
4.	Staff Room	10' x 25'	250 Sq. Ft.
5.	Chemistry Lab No. 3	20' x 25'	500 Sq. Ft.
6.	Chemistry Lab No. 4	20' x 25'	500 Sq. Ft.

Chemistry Lab No. 5		Building Size-50' x 25'=1250 Sq. Ft.=116.19 Sq. Mt.	
Sr. No.	Construction	Size	Total Area
1.	Chemistry Lab No. 5`	50' x 25'	1250 Sq. Ft.

#### North Side

Newly constructed Chemistry Dept. Wing (Ground Floor) Building Size-171' x39' =6669 Sq.ft.=619.91 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Store Room	12' x 10'	120 Sq. Ft.
2.	Chemistry Lab	30' x 25'	750 Sq. Ft.
3.	Chemistry Lab	30' x 25'	750 Sq. Ft.
4.	Chemistry Lab	30' x 25'	750 Sq. Ft.
5.	Chemistry Lab	30' x 25'	750 Sq. Ft.
6.	Chemistry Lab	30' x 25'	750 Sq. Ft.

#### L) Old Botany Dept. Wing (Ground Floor) Building Size-151.5' x36.6' =5544.9 Sq.ft.=515.42 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Research Lab (Botany)	30' x 22'	660 Sq. Ft.
2.	Career Guidance Cell	30' x 22'	660 Sq. Ft.
3.	Microbiology lab	30' x 40'	1200 Sq. Ft.
4.	Analytical Chemistry Lab	30' x 22'	660 Sq. Ft.

5	Agro Chemicals & Fertilizer Lab	20' x 22'	110 Sa Et
٥.	Agio Chemicais & Fertilizer Lau	20 X 22	440 Sq. Ft.

#### M) Mathematics Department (First Floor) Building Size-151.5' x36.6' =5544.9 Sq.ft.=515.42 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Maths Lecture Hall No. 9	30' x 22'	660 Sq. Ft.
2.	Maths Lecture Hall No. 10	30' x 22'	660 Sq. Ft.
3.	HOD & Staff Room	40' x 22'	880 Sq. Ft.
4.	Geology Lab	30' x 22'	660 Sq. Ft.
5.	Staff Room (Geology)	20' x 22'	440 Sq. Ft.

N) Library (Ground Floor) Building Size-84' x36' =3024 Sq.ft.=281.09 Sq.Mt.

	<b>,</b> , ,		
Sr. No.	Construction	Size	Total Area
1.	Library Hall No. 1	35' x 28'	980 Sq. Ft.
2.	Library Hall No. 2	50' x 28'	1400 Sq. Ft.
3.	Gallery First F. Back Volume Sec.	8' x 100'	800 Sq. Ft.
4.	Main Reading Room	40' x 25'	1000 Sq. Ft.

O) Credit Co-op Society (First Floor) Building Size-50' x25' =1250 Sq.ft.=116.19 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Seminar Hall	40' x 25'	1000 Sq. Ft.
2.	Office	10' x 25'	250 Sq. Ft.

P) Central Instrumentation Lab (Ground Floor) Building Size-52' x36' =1872 Sq.ft.=174.01 Sq.Mt.

Sr. No.	Construction	Size	Total Area
1.	Central Instrumentation Lab	30' x 25'	750 Sq. Ft.
2.	Internet Resource Centre	20' x 25'	500 Sq. Ft.

Q) Sports Department		Building Size-130' x80' =10400 Sq.ft.=966.72 Sq.I	
Sr. No.	Construction	Size	Total Area
1.	Indoor Hall	120' x 80'	9600 Sq. Ft.

R) NCC & Sports Office		Building Size-40' x30' =12	Building Size-40' x30' =1200 Sq.ft.=111.54 Sq.Mt.		
Sr. No.	Construction	Size	Total Area		
1.	NCC & Sports Office	40' x 30'	1200 Sq. Ft.		

#### S) Women's Hostel G.F. Building Size-104' x92' =9568 Sq.ft. + First Floor =9568 Sq.Ft.19136=1778.76 Sq. Mt.

Sr. No.	Construction	Size	Total Area
1.	Women's Hostel (Ground Floor)	104' x92'	9568 Sq. Ft.
2.	Women's Hostel (First Floor)	104' x92'	9568 Sq. Ft.

# INFLIBNET

### सूचना एवं पुस्तकालय नेटवर्क के

(विश्वविद्यालय अनुदान आयोग का स्वायत्त अंतर विश्वविद्यालय व

## Information and Library Network Cent INVOICE (An Autonomous Inter-University Centre of U

No. INF/SOUL/APA/ 280/2003

November 11, 2003

The Principal Science College Nanded Education Society's NANDED (MS)

SR. NO.	DESCRIPTION	QUANTITY	AMOUNT (RUPEES)
01.	SOUL Software (Network Version) on CD alongwith Hardware lock and user manual (it does not include Multillingual interface)	01 No.	20,000.00
02.	Multilingual Interface. ISM Office	01 No.	7,500.00
SUB TOTAL TAXES TOTAL AMOUNT RS.			27,500.00
TOTAL AMOUNT RS.			27,500.00

- > The payment should be made immediately on completion of training of your person at INFLIBNET Centre and handing over of SOUL to him/her by way of Demand Draft drawn on any Nationalized Bank, in favour of Director INFLIBNET Centre, payable at Ahmedabad.
- Taxes will be extra as applicable, presently Nil.
- > A free training in installation and operation of SOUL will be conducted at INFLIBNET Centre, Ahmedabad. Dates will be conveyed in advance. You may depute a person for this training programme, whose TA/DA will be borne by you. At the end of the training, SOUL Software will be handed over to your person.

The above software is warranted for a period of one year from the date of

Yours faithfully,

(Ashok Achtani) Section Officer For and on behalf of the Director, INFLIBNET Centre

ः सूचना एवं पुस्तकालय नेटवर्क केन्द्र, गुजरात युनिवर्सिटी गेस्ट हाउस के निकट, पोस्ट बॉक्स नं. 4116, नवरंगपुरा, अहमदाबाद-3

Address : INFLIBNET Centre, Near Gujarat University Guest House, Post Box No. 4116, Navrangpura, Ahmedabad-3 दूरभाष/Tele.: 079-6304695, 6308528, 6305971, 6300002, 6303498, 6301972 ईमेल/E-Mail

फैक्स/Fax : 079 - 6300990, 6307816 येयसाइट/Web Site : www.inflibnet.ac.in